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QUESTION 1

Given: What is the result? 

A. It throws a runtime exception. 

B. Value of Euler = 2.71828 

C. The code does not compile. 

D. Value of Euler = "2.71828" 

Correct Answer: C 

 

QUESTION 2

Given: What is the result? 

A. An indexOutofBoundsException is thrown at runtime. 

B. At once 0 

C. Hat at store 4 

D. At once 1 

E. Hat at store 1 

Correct Answer: E 

1Z0-819 VCE Dumps | 1Z0-819 Exam Questions | 1Z0-819 Braindumps                                2 / 6

https://www.pass4itsure.com/1z0-819.html
https://www.pass4itsure.com/1z0-819.html
https://www.pass4itsure.com/1z0-819.html


https://www.pass4itsure.com/1z0-819.html
2024 Latest pass4itsure 1Z0-819 PDF and VCE dumps Download

 

QUESTION 3

Given: 

Which three statements cause a compiler error when inserted at line l? (Choose three.) 

A. int i = theInstance.three++; 

B. int b = two; 

C. int c = three; 

D. int a = one++; 

E. int f = ExampleInterface.three; 

F. int h = theInstance.two; 

G. int e = ExampleInterface.two++; 

H. int a = ExampleInterface.one; 

I. int g = theInstance.one; 

Correct Answer: ADG 

 

QUESTION 4

Given: 
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What is the result? 

A. Keys: 4 Values: 4 Map: 0 

B. Keys: 4 Values: 4 Map: 4 

C. The compilation fails. 

D. Keys: 0 Values: 0 Map: 

E. Keys: 0 Values: 0 Map: 0 

Correct Answer: B 

 

QUESTION 5

Given: 
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Examine these requirements: 

Eliminate code duplication. 

Keep constant the number of methods other classes may implement from this interface. 

Which method can be added to meet these requirements? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 
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Correct Answer: B 
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